SRS 1 2H 1 HIME (MoAO : HRADH)

RrHT4 HE R | s [ 55 (A) | B | & (B) | HE | & (A+B) HE Dk
JIHI 3T 2, 464 6 2, 767 1 2, 806 -1 5,573 0
JHPTHT— T H 989 2 900 2 798 -3 1, 698 -1
T — T H 565 -3 533 -1 558 -9 1,091 -3
P =TH 635 -2 694 -5 648 -1 1, 342 -6
JHPTHTIU T H 481 -2 496 -2 519 -9 1,015 —4
P HT H 324 -1 352 -2 326 0 678 -2
PR T H 294 0 355 0 380 1 735 1
FESEHT 199 1 196 1 208 -1 404 0

A 379 1 443 1 457 -1 900 0

T H 1,907 -1 1,972 0 2,019 -5 3,991 -5
PIPTHT 330 2 331 2 329 2 660 4

T 914 8 970 2 948 2 1,918 4

T —TH 277 —4 351 -2 394 0 745 —9
T — T B 327 0 423 2 434 2 857 4
HHT =T H 488 -1 673 2 641 -3 1,314 -1
FHTIY T H 296 0 397 -1 392 3 789 2
HrH 232 1 256 4 249 1 505 5

H] = 293 ) 352 ) 335 -1 687 -3

=K 439 5 451 3 457 4 908 7

— Y KFNT—TH 0 0 0 0 0 0 0 0
— Y ARHM T H 31 -1 43 -1 42 0 85 -1
G 106 -9 124 -2 121 -1 245 -3

— Y KHTH 5 0 5 0 5 0 10 0
KH B 683 0 857 0 862 -2 1,719 -2

[E TN 4, 520 4 4, 847 4 4,994 -6 9, 841 -2

IR 4, 626 -9 4, 472 -2 4, 524 7 8, 996 -9

TR 1,383 3 1, 484 3 1,524 1 3, 008 4
B+ 5 0 7 0 6 0 13 0
BELHR—TH 895 4 769 1 918 -1 1, 687 0
E+HR_TH 1,093 —4 1,074 —4 1,125 -5 2,199 -9
ELHR=TH 847 2 777 2 828 -5 1, 605 -3
& LRIUTH 699 0 687 -2 704 -2 1,391 —4
B LRI TH 713 2 758 2 673 4 1,431 6
ELHRANTH 0 0 0 0 0 0 0 0
B T 1, 879 7 1, 894 -2 1,785 -1 3, 679 -3

Wy —T1TH 294 4 297 1 292 4 589 5
Wy T B 237 -1 252 -1 240 -3 492 -4
Wy b ="TH 426 -1 428 0 449 ) 877 -2
o EPUT B 688 —7 666 -6 723 -6 1, 389 -12
Wy T B 413 0 461 -1 493 0 954 -1
IT—T1H 256 0 300 1 337 1 637 2
FEET T H 571 0 568 0 610 5 1,178 -5
T =T H 186 0 182 0 226 -1 408 )
2 32, 389 4 33, 864 -2 34, 379 42 68, 243 —44
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